DISTANCE REQUIRED TO MGX-6620SC MARINE GEAR SPECIFICATIONS
SEE NOTE “B” REMOVE GEAR PUMP ™ os 742 4 (126 > GEAR RATIO 115 1.33 153 1.73 2.03 2.32 2.44 2.72
HH HE =~ SEE NOTE ‘C” TOTAL MASS (DRY) APPROX. 690 kq
]I 400 15 BASIC UNIT (DRY) APPROX. 465 kg
,Uﬁt_t@i‘ﬂ@ = MASS INPUT HOUSING 22 kg
200 100 INPUT COUPLING AND FLANGE 50 kg
WIRING OF SOLENDID INPUTS - SEQUENCE VALVE 353 © BRACKET 88 kg
O O , o THE OPTICALLY ISOLATED INPUTS SECONDARY SHAFT COMPANION FLANGE 65 kg
REQUIRE A VOLTAGE POTENTIAL r 5 OIL QUANTITY APPROX. 22 L
| DIFFERENCE OF 10 VDC MINIMUM, CLUTCH SOLENOID N — AT RATED
o ° AND A 28 VDC MAXIMUM, SOLENO[DIA” PADI0,PADIL WIRE 2 DIL INLET AND BREATHER Ol PRESSURE CLUTCHOIL | 2.2~2.4 MPa | B\ A\ SPEED
Q - ﬁjr)) | THE SUPPLY SOURCE MUST BE CAPABLE QUTLET TO SECONDARY SHAFT CLUTCH LUBE OIL 0.4~0.6 MPa OIL TEMP. 65~70-C
Wy OF DELIVERING AT LEAST 10 mA, OIL VISCOSITY SAE #40 (MULTI-GRADE OIL IS NOT APPROVED)
OIL PRESSURECLARGE AREA PRIMARY SHAFT NAME PLATE (LUBRICANT)
= OF CLUTCH PISTON (| o RLARY SHAF T OIL & GREASE THE FIRST OIL CHANGE AT 100 HOURS OF
SEE NOTE ”A'/\y %SEE NOTE “A* Mi4x1.0 PLUGUSH-6149 TH'D) LENDID’B<PAD14,PADIS WIRE __ B CHANGE INTERVAL EEEEQTDIENDSESAST%SEEQUENTLY EVERY 1000
NOTES : Y STRAINER WIRE NETTING
1H
e — | i SHIF T 10 FORVARD T R VERSE PRI IEVTRAL
TO BATTERY/POWER SUPPLY VOLTAGE. P \\ \ |+ RESTRICTION AND SHIF T ACRUSS NEUTRAL SHALL BE MADE AT
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC GEAR PUMP — D ENGINE SPEED LOWER THAN 50% OF THE RATED SPEED
CONTROL SYSTEMS OR MODULES, QUTLET TO CLUTCH B + CE— HEAT EXCHANGER - - L/min.
T Dl - - € MAX,
Qﬂﬁ@ B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION OIL PRESSURE B |
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN | = / H SECTIONAL VIEW DWG NO. | 7-40421-H
CENTERED POSITION, PUSH TO ENGAGE SECONDARY Mi4x1. PLUGUSO-6149 THD +
© ] SHAFT CLUTCH | CONTROLLER GEAR PUMP TOOTH WIDTH 44 mm
® 2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN SEQUENCE VALVE C ' 21N (WHITE)
CENTERED POSITION, PULL TO ENGAGE PRIMARY AT ! 6~30 VDC, MAX.CURRENT 100 mA ; 2-POLE
SHAFT CLUTCH L g _.I,E‘%J mLELTRIL SELELTHR VALVE NC (RED) /%_‘ PRESSURE SWITCH POINT=0.28*"%3MPq
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH ﬂ C (BLACK) BYPASS OPENING AT 0.35 i[].E]ZBMP0
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL \E$' cumae |4 S IRING
DIRECTIONAL CONTROL VALVE IS IN THE CENTERED P i
POSITION AND OPEN WHEN LEVER IS ACTUATED FROM - ’é Q DETAIL OF CLOGGING INDICATOR
CENTERED POSITION —
2. CURRENT = 20 AMPS MAX, @@ﬂﬁﬁ WARNING PLATECHOOK)
3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE 14+
DRAWING. T Nimmsil:
CONTROL VALVE (GENERAL PURPOSE VALVE) ﬂ E( g ) OUTLET TO LUBE OIL PRESSURE 14-M20X1.5 BOLT
\—i , M14x15 PLUGISO-6149 TH'D) 5 (510 N.m)
I L == EQ. SPACED
INPUT SHAFT DIRECTION :{ ] — ==t
S 447.5 L (BOTH SIDES) T 9 a2
EMERGENCY BOL T¢(R1/2 PLUG) OUTLET TO PRIMARY SHAFT CLUTCH ﬂ /f' WARNING PLATE >~ o o = o
(PRIMARY SHAFT CLUTCHD OIL PRESSURECLARGE AREA Pt CSUPPORT) NI - } N
OF CLUTCH PISTON) \ J 8 ® § 2 S
M14x1.5 PLUGISO-6149 TH'D) S —
DIL FILTER . 200 100 & _ o i
297 400 15 TO BE USED FOR LIFTING — ]
CLOGGING INDICATOR MARINE GEAR ONLY = 50 19
DISTANCE REQUIRED TO = .
225 (OVERALL LENGTH 560) o 299
DIL DRAIN PLUG FOR 41 . DIL OUTLET le-pl/ THRU 16-o14 =
OIL FILTER(RL/2> ! TO HEAT EXCHANGER 84 6888 EQ.SPACED EQ.SPACED DETAIL EH'_ CDMPANIDN FLANGE
TIGHTENING TORQUE NPTF 1 USING ATTACHED PLAIN WASHERS PLAIN WASHERS HAVE 10
— 686 Nn ) S FOR INSTALL BE PROVIDED
OUTLET TO SECONDARY T o) / 62
SHAF T CLUTCH oggggggg\ DA N \DISTANCE REQUIRED TO 1 o 212
DIL PRESSURE 03950083, LHI @ REMOVE OIL LEVEL GAUGE o 5
(SMALL AREA OF et @ / \ k = A /%
CLUTCH PISTONY % m of S o & D &
MI4x1.5 PLUG %0 TASZ SRS Vil OIL INLET W B
(1S0-6149 TH'D) o + / T |k = = FROM HEAT EXCHANGER Il Ny
=N — e —U NPTF 1 I ¢
(074
o / — St PP/ @ CENTER OF GRAVITY s BN THICKNESS 12
o ] Iw L N {, . b T o5l .3 MATERIAL _ JIS-SS400
1 |
At S ‘1 7T\ @ O N B a5 - Bl n| | S OIL DRAIN FLANGE
0 N o N & o2 0 = Mg O 2 N 'S (SCALE 1:4>
o (] + 4 ] g o) <t
. A . | %
3 ) D e g + L . - g —
Qv 1T g + 1] o . 4
=0 I ] J F
+ L A
g 138 1 \ | . Te) ol L
i W T 4 | 138 o ¢ Q ————T“:J
N W+ < L - - = _'.—;—_::|
EMERGENCY BOLT(R1/2 PLUG \DIL DRAIN PLUG FOR Jl |
(SECONDARY SHAFT CLUTCH) / ;g - QEAT EXCHANGER(R3/8 { /ﬁ”\
N j O} TIGHTENING TORQUE 49 Nim / — -
~ 0.4 CFR-420
MAIN PUMP STRAINER | CREASE DRBIN PLUG , D 36
! %5 50 — /_a\ﬁ dj WWW
e RS 15.7
50 \
CENTER OF GRAVITY OUTLET TO PRIMARY SHAFT CLUTCH
OIL PRESSURE(SMALL AREA GREASEINIPPLE
OUTPUT SHAFT DIRECTION L0 = o= Lo TN 19.4 403
M14x1.5 PLUGISO-6149 TH'D) -
OF ROTATION WITH 155 /7 155 ME TRIC
PRIMARY SHAFT CLUTCH / 255 572
2135.4
THIRD ANGLE
/8 286.9 126 @ EL PROJECTION
235 o35 OIL DRAIN FLANGE
SIMILAR TO
OIL DRAIN FLANGE 340 / 340 s&;TDT/NECZTRREA%IERRED L
DRAIN PLUG WITH MAGNET/ NOTICE! THIS PRINT CONTAINS MATERIAL MASS WR UNLESS OTHERWISE SPECIFIED DATE
(R3/8) Hihiky Ak PROPRIETARY INFORMATION AND IS _ 0.0 A R T 110704 ?Wum D@@
TIGHTENING TORQUE 49 N HEEHERS S NOT TO BE USED IN ANY MANNER ' ko N X, +0.75 SCALE INCORPORATED
' DETRIMENTAL TO THE INTERESTS OF X.X +0.25 16 RACINE, WI 53403 - USA
B B HEAT TREAT FIRST USE XXX £0.13 /
e e TWIN DISC, INCORPORATED - ASSY. ALL ANGULAR TOLERANCES t1- DBFNIIHOUQ
B B THIRSA [r:\lIEINTEI)C\I-;/IISS 3r\l4|:|0T3I;\lTU|-:Sr\1ADED - oo, MGX—6©20SC | e mist viesi isee chk.
TO NULLIFY OR LIMIT RIGHTS SURFACE TREATMENT NAME KS /—40420—K
k1 o 1 GRANTED TO THE U.S. GOVERNMENT G E N E R A L v I E \A/ APPD,
REV | BY APPD. REV | ZONE | CH. N DATE REV | ZONE | CH. NO. DATE OR OTHERS BY CONTRACT. KS SHEET 1 0OF 1 REV ___

ALT

C

A




